Ve -0, G .. . . .
E A‘ " CTEAy "’-‘mky Addition von Briichen ( richtiger Bruch ) ( unechter

fmd =% ¥w Bruch )

Name: Datum: Ergebnis:
2 3 4 7
— 4+ = — 4 - =
4 5 3 9
1 2 5 4
4+ == — 4 - =
2 3 8 7
1 6 3 4
3 7 2 8
7 5 7 5
4 9 4 8
6 3 7 3
9 4 3 5
1 2 7 4
8 7 5 5
3 3 4 1
4+ = — 4 - =
6 6 5 6
1 3 4 1
_ 4+ = — 4 - =
9 8 9 8
2 5 3 5
— 4+ = — 4 - =
9 6 6 2
3 4 6 4
4+ - = — 4 — =
4 7 4 3
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g 20, uER .. ; C
E ﬂ‘/ " o/ o) “Lm»y Addition von Briichen ( richtiger Bruch ) ( unechter

(md =% '¥s Bruch )
Name: Datum: Ergebnis:
2 3 11 1 4 7 19 1
e 4= — =0
4 5 10 10 3 9 9 9
1 2 7 1 5 4 67 11
S+l o=l
2 3 6 6 8 T 5 56
I 6 25 4 3 4
e T+ =2
3 7 21 21 2 8
7 S5 &3 11 7 5 19 3
=229 S4Z =2 =0
4 9 36 36 4 8 8 8
6 3 17 7 3 44 14
e e
9 4 12 12 3 5 1 15
1 2 23 7 4 11 1
—+ == — -+ -=—=2=
8 T 56 5 5 5 5
3 3 4 1 29
S+ S ==
6 6 5 6 3
1 3 35 4 1 41
4+ == -+ =
9 8 72 9 8 7
2 5 19 1 3 5
e Z4+Z=3
9 6 I8 18 6 2
3 4 37 9 6 4 17 5
T4 =l o2 o=t =22
4 7 28 28 4 3 6 6
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